



# A remark on $n$ -associative power series

Home Page

Title Page

Contents



Page 1 of 12

Go Back

Full Screen

Close

Quit

53-rd ISFE

June 14–21, 2015

Krynica-Zdrój, Poland

Harald Fripertinger

NAWI Graz

Universität Graz

# $n$ -associativity

$$F(x_1, x_2, \dots, x_n) \in \mathbb{C} \llbracket x_1, x_2, \dots, x_n \rrbracket, n \geq 3,$$

$F(0, 0, \dots, 0) = 0$ , so  $F$  can be substituted into any formal power series

$$F(x_1, x_2, \dots, x_n) = \sum_{\substack{(i_1, \dots, i_n) \in \mathbb{N}_0^n \\ i_1 + \dots + i_n \geq 1}} a_{i_1, \dots, i_n} x_1^{i_1} \cdots x_n^{i_n}$$

Home Page

Title Page

Contents



Page 2 of 12

Go Back

Full Screen

Close

Quit

# $n$ -associativity

$$F(x_1, x_2, \dots, x_n) \in \mathbb{C} \llbracket x_1, x_2, \dots, x_n \rrbracket, \quad n \geq 3,$$

$F(0, 0, \dots, 0) = 0$ , so  $F$  can be substituted into any formal power series

$$F(x_1, x_2, \dots, x_n) = \sum_{\substack{(i_1, \dots, i_n) \in \mathbb{N}_0^n \\ i_1 + \dots + i_n \geq 1}} a_{i_1, \dots, i_n} x_1^{i_1} \cdots x_n^{i_n}$$

$$F(F(x_1, x_2, \dots, x_n), x_{n+1}, \dots, x_{2n-1}) \tag{1}$$

$$F(x_1, F(x_2, \dots, x_{n+1}), x_{n+2}, \dots, x_{2n-1}) \tag{2}$$

...

$$F(x_1, \dots, x_{n-1}, F(x_n, x_{n+1}, \dots, x_{2n-1})) \tag{n}$$

# $n$ -associativity

$$F(x_1, x_2, \dots, x_n) \in \mathbb{C} \llbracket x_1, x_2, \dots, x_n \rrbracket, \quad n \geq 3,$$

$F(0, 0, \dots, 0) = 0$ , so  $F$  can be substituted into any formal power series

$$F(x_1, x_2, \dots, x_n) = \sum_{\substack{(i_1, \dots, i_n) \in \mathbb{N}_0^n \\ i_1 + \dots + i_n \geq 1}} a_{i_1, \dots, i_n} x_1^{i_1} \cdots x_n^{i_n}$$

$$F(F(x_1, x_2, \dots, x_n), x_{n+1}, \dots, x_{2n-1}) \tag{1}$$

$$F(x_1, F(x_2, \dots, x_{n+1}), x_{n+2}, \dots, x_{2n-1}) \tag{2}$$

...

$$F(x_1, \dots, x_{n-1}, F(x_n, x_{n+1}, \dots, x_{2n-1})) \tag{n}$$

$F$  is  $n$ -associative if  $(1) = (2) = \dots = (n)$ . This is a system of  $\binom{n}{2}$  equations in  $\mathbb{C} \llbracket x_1, x_2, \dots, x_{2n-1} \rrbracket$ .

# Different types of solutions



Home Page

Title Page

Contents



Page 3 of 12

Go Back

Full Screen

Close

Quit

## 1. Trivial solutions:

$$F(x_1, \dots, x_n) = x_1 \text{ and } F(x_1, \dots, x_n) = x_n.$$

# Different types of solutions



Home Page

Title Page

Contents



Page 3 of 12

Go Back

Full Screen

Close

Quit

1. Trivial solutions:

$$F(x_1, \dots, x_n) = x_1 \text{ and } F(x_1, \dots, x_n) = x_n.$$

2. Solutions of the form  $F(x_1, \dots, x_n) = x_1 \cdots x_n F_1(x_1, \dots, x_n)$ :

$$F(x_1, \dots, x_n) = f^{-1}(f(x_1) \cdots f(x_n))$$

where  $f \in \Gamma$ , i.e.  $f$  is invertible with respect to substitution.

# Different types of solutions



Home Page

Title Page

Contents



Page 3 of 12

Go Back

Full Screen

Close

Quit

1. Trivial solutions:

$$F(x_1, \dots, x_n) = x_1 \text{ and } F(x_1, \dots, x_n) = x_n.$$

2. Solutions of the form  $F(x_1, \dots, x_n) = x_1 \cdots x_n F_1(x_1, \dots, x_n)$ :

$$F(x_1, \dots, x_n) = f^{-1}(f(x_1) \cdots f(x_n))$$

where  $f \in \Gamma$ , i.e.  $f$  is invertible with respect to substitution.

3. Solutions of the form  $F(x_1, \dots, x_n) = x_1 + x_n + \dots$ :

$$F(x_1, \dots, x_n) = f^{-1}(f(x_1) + \rho f(x_2) + \rho^2 f(x_3) + \dots + f(x_n))$$

$$f(x) = x + \sum_{k \geq 2} f_k x^k \in \Gamma_1.$$



Similarly as in the last part of [2], it is possible to determine the power series  $f$  by differentiation. This will be shown next:

[Home Page](#)

[Title Page](#)

[Contents](#)



Page 4 of 12

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



Similarly as in the last part of [2], it is possible to determine the power series  $f$  by differentiation. This will be shown next:

For  $F(x_1, \dots, x_n) \in \mathbb{C}[[x_1, \dots, x_n]]$  let

$$(D_j F)(x_1, \dots, x_n) = \frac{\partial}{\partial x_j} F(x_1, \dots, x_n), \quad 1 \leq j \leq n.$$

Home Page

Title Page

Contents



Page 5 of 12

Go Back

Full Screen

Close

Quit

Similarly as in the last part of [2], it is possible to determine the power series  $f$  by differentiation. This will be shown next:

For  $F(x_1, \dots, x_n) \in \mathbb{C}[[x_1, \dots, x_n]]$  let

$$(D_j F)(x_1, \dots, x_n) = \frac{\partial}{\partial x_j} F(x_1, \dots, x_n), \quad 1 \leq j \leq n.$$

We will prove the following fact. If

$$F(x_1, \dots, x_n) = x_1 + x_n + \sum_{\substack{(j_1, \dots, j_n) \in \mathbb{N}_0^n \\ j_1 + \dots + j_n \geq 1}} a_{j_1, \dots, j_n} x_1^{j_1} \cdots x_n^{j_n}$$

is an  $n$ -associative formal power series, then there exists a uniquely determined series  $f(x) = x + \dots \in \Gamma_1$ , so that

$F(x_1, \dots, x_n) = f^{-1}(f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n))$ , where  $\rho = a_{0,1,0,\dots,0}$  which satisfies  $\rho^{n-1} = 1$ .

# Lemma

If  $F$  is  $n$ -associative and of the form

$f^{-1}(f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n))$ , where  $\rho$  is a root of unity of order  $n - 1$ , and  $f(x) = x + \dots \in \Gamma_1$ , then

$$f'(x) = \frac{1}{D_1 F(0, \dots, 0, x)}.$$

# Lemma

If  $F$  is  $n$ -associative and of the form

$f^{-1}(f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n))$ , where  $\rho$  is a root of unity of order  $n - 1$ , and  $f(x) = x + \dots \in \Gamma_1$ , then

$$f'(x) = \frac{1}{D_1 F(0, \dots, 0, x)}.$$

**Proof.**

$$f(F(x_1, \dots, x_n)) = f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n) \implies$$

$$f'(F(x_1, \dots, x_n)) D_1 F(x_1, \dots, x_n) = f'(x_1) \implies$$

$$f'(F(0, \dots, 0, x_n)) D_1 F(0, \dots, 0, x_n) = f'(0) \implies$$

$$f'(x_n) D_1 F(0, \dots, 0, x_n) = 1$$

Both  $f'(x_n) = 1 + \dots$  and  $D_1 F(0, \dots, 0, x_n) = 1 + \dots$  are units in  $\mathbb{C}[[x_1, \dots, x_n]]$  and the assertion follows.

# Theorem

Let  $F(x_1, \dots, x_n)$  be  $n$ -associative,  $\rho = a_{0,1,0,\dots,0}$ , and let  $f(x)$  be the unique primitive series of  $1/D_1F(0, \dots, 0, x)$  satisfying  $f(0) = 0$ , then

$f(x) = x + \dots \in \Gamma_1$ , and

$$F(x_1, \dots, x_n) = f^{-1}(f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n)).$$

# Theorem

Let  $F(x_1, \dots, x_n)$  be  $n$ -associative,  $\rho = a_{0,1,0,\dots,0}$ , and let  $f(x)$  be the unique primitive series of  $1/D_1F(0, \dots, 0, x)$  satisfying  $f(0) = 0$ , then

$f(x) = x + \dots \in \Gamma_1$ , and

$$F(x_1, \dots, x_n) = f^{-1}(f(x_1) + \rho f(x_2) + \dots + \rho^{n-2} f(x_{n-1}) + f(x_n)).$$

## Proof.

1. If we write  $F(x_1, \dots, x_n) = \sum_{j=1}^n \varphi_j(x_j) + \hat{F}(x_1, \dots, x_n)$ , then we can show that there exists a root  $\rho$  of unity of order  $n - 1$  and a series  $\psi(x) \in \Gamma_1$  so that  $\varphi_2(x) = \psi(\rho \psi^{-1}(x))$  and  $\varphi_j(x) = \varphi_2^{j-1}(x)$ ,  $1 \leq j \leq n$ .

$$\begin{aligned} D_j F(0, \dots, 0) &= \frac{\partial}{\partial x_j} \left( \sum_{i=1}^n \varphi_i(x_i) + \hat{F}(x_1, \dots, x_n) \right) \Big|_{x_1=\dots=x_n=0} \\ &= \varphi_j'(0) + \mathbf{0} = \rho^{j-1}, \quad 1 \leq j \leq n. \end{aligned}$$

## 2. Now we prove that

$$D_j F(0, \dots, 0, x_n) = \frac{\rho^{j-1}}{f'(x_n)}, \quad 1 \leq j \leq n-1.$$

For  $j = 1$  the assertion is clear due to the construction of  $f$ . Consider some  $2 \leq j \leq n-1$ . Differentiation of (1) = (j) with respect to  $x_j$  we have

$$D_1 F(F(x_1, \dots, x_n), x_{n+1}, \dots, x_{2n-1}) D_j F(x_1, \dots, x_n) = \\ D_j F(x_1, \dots, x_{j-1}, F(x_j, \dots, x_{j+n-1}), x_{j+n}, \dots, x_{2n-1}) D_1 F(x_j, \dots, x_{j+n-1}).$$

Setting  $x_1 = \dots = x_{2n-2} = 0$  we obtain

$$D_1 F(0, \dots, 0, x_{2n-1}) D_j F(0, \dots, 0) = D_j F(0, \dots, 0, x_{2n-1}) D_1 F(0, \dots, 0)$$

which means that

$$D_j F(0, \dots, 0, x_{2n-1}) = \frac{\rho^{j-1}}{f'(x_{2n-1})}.$$

3. For  $1 \leq j < n$  we have

$$D_j F(\underbrace{0, \dots, 0}_{j-1\text{-times}}, x_j, \dots, x_n) = \frac{\rho^{j-1} f'(x_j)}{f'(F(0, \dots, 0, x_j, \dots, x_n))}. \quad (*)$$

We differentiate  $(j) = (n)$  with respect to  $x_j$ , and set  $x_1 = \dots = x_{j+n-2} = 0$  to get

$$D_j F(0, \dots, 0, F(0, \dots, 0, x_{j+n-1}), x_{j+n}, \dots, x_{2n-1}) D_1 F(0, \dots, 0, x_{j+n-1}) = D_j F(0, \dots, 0, F(0, \dots, 0, x_{j+n-1}, \dots, x_{2n-1})),$$

which means by 2. that

$$D_j F(0, \dots, 0, x_{j+n-1}, \dots, x_{2n-1}) = \frac{\rho^{j-1} f'(x_{j+n-1})}{f'(F(0, \dots, 0, x_{j+n-1}, \dots, x_{2n-1}))}.$$



4. Let  $G(x_1, \dots, x_n) = f(F(x_1, \dots, x_n)) - f(x_1) - \rho f(x_2) - \dots - f(x_n)$ . We prove that  $G = 0$ . Differentiating  $G$  with respect to  $x_1$  we obtain

$$D_1 G(x_1, \dots, x_n) = f'(F(x_1, \dots, x_n)) D_1 F(x_1, \dots, x_n) - f'(x_1).$$

From (\*) for  $j = 1$  we get  $D_1 G(x_1, \dots, x_n) = 0$ , thus  $G(x_1, \dots, x_n)$  does not depend on  $x_1$ , whence  $G(x_1, \dots, x_n) = G(0, x_2, \dots, x_n)$ .

Using the same arguments we show for  $2 \leq j < n$  that

$$G(0, \dots, 0, x_j, \dots, x_n) = G(0, \dots, 0, x_{j+1}, \dots, x_n).$$

Finally we have  $G(x_1, \dots, x_n) = G(0, \dots, 0, x_n) = f(F(0, \dots, 0, x_n)) - f(x_n) = f(x_n) - f(x_n) = 0$ . Thus  $G = 0$  and  $F$  has the given representation.

# References



Home Page

Title Page

Contents



Page 11 of 12

Go Back

Full Screen

Close

Quit

[1] Harald Fripertinger. On  $n$ -associative formal power series. Accepted for publication in *Aequationes mathematicae*.

[2] Harald Fripertinger, and Jens Schwaiger. On 1-dimensional formal group laws in characteristic zero. *Aequationes mathematicae*, 2014.

[3] Jean-Luc Marichal, and Pierre Mathonet. A description of  $n$ -ary semigroups polynomial-derived from integral domains. *Semigroup Forum*, **83**, No. 2, pages 241–249, 2011.



Home Page

Title Page

Contents



Page 12 of 12

Go Back

Full Screen

Close

Quit

# Contents

## A remark on $n$ -associative power series

$n$ -associativity

Different types of solutions

Lemma

Theorem

References